EAST BATON ROUGE PARISH PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				3,956	cords	
Hardwood				23,117	cords	
Pulpwood (Total)				27,073		
Chip & Saw (Total)				4,564	cords	
Saw Timber						
Pine				860,460	board feet	
Hardwood				3,780,603	board feet	
Saw Timber (Total)				4,641,063		
Total Pulpwood, Chip & Saw,						\$4,520,630
Saw Timber FOB Mill						
Total Forestry Stumpage						\$2,284,264
(Total)						
Forestry (Total)						\$4,520,630
HAY FOR SALE						
Grass (Total)	50	7,500.0	1.00	7,500	tons	\$693,000
Hay for Sale (Total)		7,500.0				\$693,000
Home Gardens (Total)	34,000					\$6,800,000
NURSERY CROPS						
Floraculture & Bedding	6				acre	\$2,000,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$250,000
Nursery Crops (Total)						\$2,250,000
PECANS						
Native (Total)	75	25.0	150.00	3,750	lbs.	\$3,563
Pecans (Total)		25.0				\$3,563
SUGARCANE						
Raw Sugar (Total)	*	279.0	5,600.00	1,562,400	lbs.	\$187,488
Molasses (Total)		279.0	168.00	46,872	gal.	\$9,374

Sugarcane (Total)		279.0				\$196,862
VEGETABLES						
Collards						
Fresh	*	3.0	600.00	1,800	doz. bunches	\$12,600
Collards (Total)		3.0				\$12,600
Cucumber						
Fresh	*	3.0	250.00	750	bu. (50 lbs.)	\$13,500
Cucumber (Total)		3.0				\$13,500
Eggplant (Total)	*	1.0	400.00	400	bu. (33 lbs.)	\$8,000
Mustard (Fresh) (Total)	*	35.0	600.00	21,000	doz. bunches	\$147,000
Okra (Fresh) (Total)	*	3.0	225.00	675	bu.	\$20,250
Squash (Fresh)						
Yellow Squash	*	3.0	250.00	750	bu. (45 lbs.)	\$16,875
Squash (Fresh) (Total)		3.0				\$16,875
Tomatoes (Field) (Total)	*	2.0	1,500.00	3,000	lugs (20 lbs.)	\$60,000
Turnips (Fresh) (Total)	*	10.0	600.00	6,000	doz. bunches	\$42,000
Vegetables (Total)		60.0				\$320,225
TOTAL ALL PLANT ENTERPRISES						\$14,784,280

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE							
Alligators (Farm) (Total)				234	ft.	\$6,552	
Aquaculture (Total)						\$6,552	
FRESHWATER FISHERIES							
Freshwater Finfish (Total)				137,774	lbs.	\$67,247	
Freshwater Fisheries (Total)						\$67,247	
Alligators (Wild) (Total)				247	ft.	\$6,188	
HUNTING LEASES							
All Other Game (Total)	50	25,000	No. Acres		acre	\$175,000	
			Leased				
Hunting Leases (Total)						\$175,000	
Honey (Total)	50	125	No. Hives	11,000	lbs.	\$9,900	
TOTAL ALL FISHERIES & W	ILDLIFE ENTERPRISES					\$264,887	

EAST BATON ROUGE PARISH

EAST BATON ROUGE

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
DAIRY						
Dairy Cows						
Milk	*	270	No. Adult Cows	5,105,263	pounds	\$748,432
Bred Heifers				8	head	\$13,880
Adult Cows				4	head	\$5,600
Cull Cows				71	head	\$39,938
Bull Calves				121	head	\$6,050
Breeding Age Bulls				1	head	\$1,100
Dairy Cows (Total)						\$814,999
Dairy (Total)						\$814,999
HORSES						
Brood Mares						
Race Horses	60	600	No. Brood Mares	500	head	\$4,000,000
Show Horses	500	1,150	No. Brood Mares	950	head	\$3,800,000
Recreation Horses	1,300	2,100	No. Brood Mares	1,800	head	\$2,700,000
Brood Mares (Total)						\$10,500,000
Stud Fees						
Race Horses	15	150	No. Stallions	150	mares bred	\$375,000
Show Horses		30	No. Stallions	600	mares bred	\$900,000
Recreation Horses		60	No. Stallions	600	mares bred	\$300,000
Stud Fees (Total)						\$1,575,000
Race Horses (Total)	50			500	head	\$6,000,000
Show Horses (Total)	450			900	head	\$4,500,000
Recreation Horses (Total)	1,300			2,200	head	\$3,300,000
Horses (Total)						\$25,875,000
POULTRY						
Broilers (Total)	*			3,500	lbs.	\$2,251
Edible Eggs (Total)	10	2,500	No. Hens	35,000	doz. eggs sold	\$24,990

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

POULTRY					
Cull Hens (Total)			4,5	00 lbs.	\$270
Poultry (Total)					\$27,511
RABBITS					
Fryers (Total)	*	1,500 No. An	imals 6,0	00 lbs.	\$4,800
Does (Total)	*	500 No. An	imals	lbs.	
Rabbits (Total)					\$4,800
SHEEP					
Wool (Total)		100 No. She	eared 7	00 cwt.	\$175
Slaughter Lambs (Total)				30 head	\$4,688
Feeder Lambs (Total)				40 head	\$3,000
Stocker Sheep (Total)				10 head	\$750
Cull Sheep (Total)				30 head	\$1,500
Sheep (Total)	*	50 No.Bre	eding		\$10,113
		Ewes			
GOATS					
Show Goats (Total)				00 head	\$50,000
Slaughter Goats (Total)				50 head	\$31,250
Stocker Goats (Total)				50 head	\$14,250
Cull Goats (Total)			1	25 head	\$8,125
Goats (Total)	30	450 No. Do	es		\$103,625
SWINE					
Show Pigs (Total)			5	00 head	\$140,000
Feeder Pigs (Total)				00 head	\$21,000
Slaughter Hogs (Total)			·	00 head	\$156,291
Culls (Total)				50 head	\$24,000
Swine (Total)	10	200 No. Sov	WS		\$341,291
TOTAL ALL ANIMAL ENTER	PRISES				\$27,177,338